appVersion (4)="1.0.8348.30405"

x1(t) yl(t)

X2(t) y2(t) G:=1 ml :=30 m2 =2 m3 :=0.5 tend =1
X3 (t) y3(t)
?funvec
I Xl(O):O x1 (O):—l X2(O)=—3 X2 (O):l X3(O)=—3 1 X3 (O)=2
yl(0)=0 y1"(0)=-1 y2(0)=-0.2 y2°"(0)=0 y3(0)=-0.1 y3"(0)=0
e (t)= G-mz.[XZ(t)—xl(t)] 3+ G-mg.[XS(t)—xl(t)] i
o (6)-xt (1) 1z (0) va(e)® A () xt ()2 (3 (1) va (e))?
e () 6 -my-(v2 (€)= y1 (1)) . 6 -my-(¥3 (€)= y1 (1)) 3
o (6)-xt (1) 1z (0) va(e)® A () -xt(0) 2 (3 (1) va(x))?
2t (t)= G-ml.[xl(t)—XZ(t)] 3+ G-mg-(X3(t)—X2(t)) i
o (6)-xt (1) 1z (0) va(e)® A ) xe (1) 2 (3 (1) vz (1))
o () 6-my - (v1 (£)-y2 (t)) . 6 my-(¥3 (£)-y2 (1)) 3
o (6)-xt (1) 1z (0) va(e)® A ) xe (1) 2 (3 (1) vz (1))
X3t (t)= G-ml.[xl(t)—XB(t)] 3+ G-mZ-(XZ(t)—X3(t)) i
o (6 xt ()2 13 ) va(e)® A ) %2 (1) 2 (3 (1) v (1))
o () 6-my - (¥1 (£) -3 (1)) . 6my-(¥2 (£) -3 (1)) 3
y _

o (6)-x (1) 13 () va(e)® A ) %2 (1) % (v3 (1) vz (t)

M= Rkadapt{funvec N SN 1100]
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y(t)

-2.8 -2.4 -2 -1.6 -12 -0.8 -0.4

X(t)



